EARAZROREIERT — 2 N—XBISY —F 202159898 (K) 9mAFH4H

KW 2012 A 7IVL—ZDOHEBTEE 5% (Xl W | (BEwml — | 4 (&) 16000 TR
=]
[A&4£] 17 :800,000 8 ~ 23#%&:320,000 3 ~ 33#&:200,000H . 4 7#:120,000 M . 5 i :80,000 M
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
1 9| KU—by s>y 5 ;ﬁﬂ(ﬂ)ﬁ%ﬁ 1:46.0 3-3-2-1 |42.3| — | 2 | 450 %Egﬁ%ﬂﬁ
L:TANWNTTFY— B:EI F—L ) (+6) XF A
2 5| A M—LTLAN= H 7 5%;%% 1(:46.)1 10-10-8-7 |41.6 | — | 4 | 478 %@gi (Kk3)
. 1/2 =
R:o07% BTEIAYHTS #6) | srimAns
3156 TLEFFA it 4 Egﬁ%ﬁ 1:46.1 8-8-11-9 |41.3| — 6 446 Uﬁiffé (k)
. NS ¥y
QA —FTFLT BETI T4y o @) |mgs, s
4l8l12 J_H5FS5 1 4 4 gﬁﬁz 1:46.3 6-7-9-10 |41.7 | — 1 478 Eg?,’gv_'i (XH#H)
o (1) )
Qi b—tiRTLES B b—tlT— b 00 | Bpatt Tx5c77—4
B4 | HEIHE 1:46.5 12-13-12-11{ 41.8 | — 8 460 | ARE= (KH)
5 2| 74T LAIXTAI 56.0 1) o |EeRES
xS BiAyYRIN=T LZHIT7—L4L
s 4 | IEOBE 1:46.8 7-6-7-8 | 42.4| — 12 | 410 |EBEE (KH)
67|11 7F N 54.0 1172 ) 77— FEY >
QAREERY EBILXAN ) OR M o
717 10l 7=V LA R—Y > 9 Sﬁ*grém 1:46.8 13-12-10-12| 42.2 | — 10 | 479 %iz‘% (K#)
. 7€ = F
RTLLFFELF 4 BTN—ULITY b e @) | ") saa-KL-vaEETy
glsl7|¥x1—7 4 gﬂglﬁ% 1:47.1 [11-11-13-13{ 42.3 | — | 11 | 441 ﬁg%g (/)vih)
. 11/2 ;
LNy v =L B:SIRXA ( ) (+4) TFEERAKS
9 NEPT PRI o4 f;g%tﬁ 1:47.3 1-1-1-2 | 43.6| — 3 478 ﬁj}ﬁﬂid\w
. 3/4 J L=
R:A—Xx>J4L B:7L/HMU=—X @ #3) BRMEE
olglisl w1 FL2B10 Mo é%lf%lﬁ% 1:(427).7 4-4-5-5 | 43.4| — 9 480 J:(%I)%?f:(j—(;;)i——7)b
R:%XF BikyFRRFo b ) 5Ly kI 7—A
11 4 F—ZRETUN H o8 g%ﬂgiﬁ 1:47.7 2-2-3-3 |43.8| — | 13 | 453 Eﬁ%m@hw
LB RYIFRYT—/ BTIIERR 79 © v—fvww—A
—: P 3 4 4 | BEHERK 1:47.8 9-9-4-4 |43.5| — 5 440 | EEEE (KH)
" DI el 5.0 () Gay | W8 77X bETa
RBALNT Ry IR BI—S Y r—Ib H:be
) B BT - 56~ - MTEE (K
13l | Fvogay fo4 | BT 1.(489).4 5-5-66 | 45.1 7 <5+116) imﬁm( )
R:g4 7 b7=EY B:Y—JLy ha=F HE77—»4L
® I—F—&EBIERL
|S=7r= 3,4,9,13,1,12,11,6,8,5,7,2,10
23=7F= 3,4,9,13,1,11,12,6,8,5,7,10,2
§T=5r= 3,9,4,8,13,1,11,5,12,10,6,2,7
40—+ — 9,3,4,8,13,1,5,11,6,12,2,10,7
[ RN
B 9 490/ 794K 5-9 440 & 4-6 890 &R 5-6-9 5,450/
# B 9 220M 6-9 1,060 B 6-4 1,610M EE 9-5-6 21,380
5 170 5-6 1,110H B = 5-9 1,190
6 3104 B H 9-5 2,120

ARICOVWTRDTEEERROODE. TR LIV,



